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 9-Х = 4
Х= 9 - 
4Х= 5
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Х- 8 = 1
Х= 8 + 
1 Х= 9

в)



9 – 6 + 3 = 6
9 – 7 + 4 = 6
9 – 8 + 5 = 6

4 + 3 – 2 = 55 + 3 – 2 = 66 + 3 – 2 = 7

8 – 2 – 3 = 38 – 3 – 3 = 28 – 4 – 3 = 1
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Арбуз Дыня
5 кг 3 кг

? кг

А. – 5 кг
Д. – 3 кг

? кг
А.
Д. ? кг

5 кг

3 кг

А. – 5 кг
Д. – 3 кг

на ? кг

5 б)

а)



6
Iваза – 6 яб. на ? яб.

IIваза – 4 яб.

а)

б)
Маша – 3 ц.

9цветовКатя – 1 ц.
Ира – ? ц.

Маша Катя
3 ц. 1 ц.

9 ц.

6 – 4 = 2 (яб.)
Ответ: на 2 яблока.

Ира
? ц.

9 – 3 – 1 = 5  (ц.)

Ответ: 5 цветов.

I.
II. ? яб.

6 яб.

4 яб.



9 – 2 – 4 + 5

3 + 4 – 1 – 2 

4 + 5 – 8 + 6

5 – 4 + 7 – 3 

4

8

7

5

7



49 48 47 46 45 44
43 42 4 1 40

950 95 1 952 953
954 955 956 957

1 2 3
4 5 6


